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5
15l 65 a5 5 lelabus Al Aall & Jasussl) a3

M, =65

e

Aesanall 63 4 3l janl Jassgl) dlad Cisthaal) 38 12 Lealst 381 e die lecl )
X :20,22,19.5,26,24.5,27,28,29,18,20,23,25
P SISy D i dl oda iy
Y :29,28,27,26,25,24.5,23,22,20,20,19.5,18
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245423

e
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Calculate the median from the following data
61,80,40,10,15,12,20
Sol:
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Measures of Variation or Dispersion

il o) i) (uelia

Dispersion Measures: It describes the level in the data about the central tendency location.

el G il aae e @llh Ja S cndil) G LS 5 Ledan s oo laaliiall o (a3 e sall lE 5l ae Ll 4 aaiy
UL e e sana ) Al L) e ALIS 5 g oY s sl Y
A:01,23,45,6,78,9,10
B:9,1,0,10
5 (5 show 40 Bl (e sl (pe IS0 boal) Tl il sic

e Y e 5 Luavia 5S) Al Jass sl sl il 5l il J8 LalS 5 400N Ao ganall (po JB (I 5V e senall s (K1
ans el 238 5 ¢ ULl 038 (e Aipnall Ao ganall 8 sl (20 5 Lgin Lo ULl a5 (s3e (i unlie 253 g
sl g il o) sl (ulia

.Range sl

. Mean Deviation(M.D) Lo siall <al =3y

Variation and Standard Deviation s_baall 5l ouliiall Ledl jai) g Ziall il

.Coefficient of Variation(C.V) <35 Jalas sl ol Jalas

Gl Aad J8) g dad HS) 0 (3 41 58 0 Range gl -1
A Rrsaall (385 Ao s A saal) e ) s b

R = Yimax — Yimin

EX:
X:1,2,4,12,11,9,8

R=12-1=11
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TS sl iyl 2l e ol o A e sl 8 A padl) Ll Als 3 —

EX:
Find the Range of the weights of 100 students at the University of Mosul.
weights 60-62 63-65 66-68 69-71
fi 5 18 42 27

Sol:

R=y, -y
R=74—-60=14

. L#Lnj\ Ledans 5 e calilull dathaal) sl jasY) Jas g3 98 :Mlean Deviation(M.D) daw giall il 2y -2

VS i O S A gl e il Al 4

MD:Zm—ﬂ
n
@Lu;j\ Lu}j\ :3_] O Cua

EX:

Find the mean deviation of the following two groups.
Yi=5,18,10,15,3,7,6,12 n=8
Yi=9,3,8,8,9,8,9,18 n=8

SOL:

For group (1)

MD:Zm—ﬂ

n
5418410+ 154+3+7+6+ 12
_ |5—9.5|+[18 —9.5| + -+ [12 — 9.5|

8

= 42.5

M.D
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For group (2)

.D:Zb’i_}_’l
n

_9+3+8+8+9+8+9+18_9
_ = -
_19-91+13-9+--+[18 -9
B 8

.D = 2.25

D S (oS Ja gial) i) jadY) dda b 4 gaal) cilibdl s b -

t O IS B (fy, f2, 3,0, fin) O Sl 8100 S (3, Y3, ¥73, .0, V) O 13
2 fily:i =yl

M.D W7

EX:
Find the mean deviation of the weights of 100 students at the University of Mosul

weights

60-62

63-65

66-68

69-71

72-74

fi

5

18

42

27

8

SOL:

weights

lyi — ¥l

filyi — ¥l

60-62

|61 — 67.45| = 6.42

6.45*5=32.25

63-65

3.45

62.10

66-68

0.45

18.9

69-71

2.55

68.85

72-74

5.55

44.4

226.5

M.D

_Xfilyi -3l
>f

y = 2L 8T _ g7 45

Xfi 100

2265
~ 100

= 2.26 kg.
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.Variation and Standard Deviation ¢ kaall 5 (mball Lgd) ) g ddad) (pls -3

Standard Deviation(S.D): is a widely used measurement of variability or diversity used in
statistics and probability theory. It shows how much variation or dispersion there is from the mean
—(S) the sample variance , (¢) the population variance.

s SV Dpall (5S4 sl e bl Al 3

2
§2 = L=y Al s

: @Y\S Al pa o) S0 ﬁ.q_\;.d I ol Lal
Laaiaall Gl jie 23e N O dus
POl xS 3all sa(S.D) kel ) ol l i) ol
Aall o jlmall 5l ol Cal yaiY)
D S dal) (68 Ay gaall il s A

_ 2A0i9?

SZ
Zfi_l

OR

2
2_(Zfiyi)
_Zfiﬁ)’i Zfl

s§2 =

Zfi_l
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Al ) a3 g Asedl (5 jbemall o) ol ol Y

S.D =./s2

EX(1): Lgaall e ciligd) s A Jla
Find the Variation and Standard Deviation of the following data: y; = 9,8,6,5,7
Sol:

(yi —¥)?
4

1
1
4
0

10

n-1

S.D =+/S2 =25 =158

Or
2 2
§S = (97 +82 + 6% + 57 + 72) — 2 = 225 — B = 10 (fauadly Ghill 15l sl £ ymne 5 SS
10

S.D =+/S2 =25 =158




Jugal sl R
Sl g Jadil) dain AulS Engineering Statistics il sbaal)

A0 A pal) / Sl and

2022-2023 Lalid) 5 palaall Lucturer:Marwa Yeheya

EX(2): 4 gaal) clibd) A 3 Sl

Find the Variation and Standard Deviation of the frequency distribution table:

class fi
60-62 5
63-65 18
66-68 42
69-71 27
12-74 8
100

fiyi |y 0:—»*| f.:i—y)>
305 41.6025 208.0125
1125 11.9025 214.245
2814 0.2025 8.505
1890 6.5025 75.5675
584 30.8025 246.42

> ryi=6745 852.75

Yfiyi 6745

= = = 67.45
X fi 100

y

, Xf.(yi—¥y)? 85275 85272

§° = 8.6

Yf,-1 100—-1 99

S.D=+/52=86=29
A Faeal) il JEd Ja (Saa
: : — :
class fi fi*yi , fi = yiz
60-62 5 305 18605
63-65 18 1125 73728
66-68 42 2814 188538
69-71 27 1890 132300
72-74 8 584 42632
D Jyi=6745 s firy, =455803
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(6745)2
100
ss 852.75 _

TYf -1 100—1

SS=455805 -

s 8.6

S=452=+86=29
. d3aa
Aaa ga (1585 Waila Variation ¢pbal dagd

Coefficient of Variation(C.V). x4l Jalaa o) GAY) Jalaa o (bl Jalza -4

Is a normalized quantity based on the standard deviation and the mean .1t is a dimensionless
guantity

S.D
CV.=—x100
X

EX:
s ) Jgandl ria ge LS WIS U Canall 3 cprialal Al Clllaial il

wowldl [ olal,l
73 | 78 bl gl
7.6 8 wowlall eV

C.Vy.= -+ 100 = 10.25% Syl

C.Ve= 224100 = 10.41% wesllly

. bl (e AS) S G galald) Bala cila )3 A cidal) of Badly

Properties of Variation and Standard Deviation («tall Gl ady) g cpulill) (al s3

A i) ol ol Aad e i3 4l ¢ claaliall ai( (ge) S (K) il dae bl o) ilal e ]
L Calaalill

Then  S2=S52

and SX = Sy
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EX:
Yi=8, 3,2, 12, 10;
XY =35

Y? = 64,9,4,144,100

YY? =321

Xi=yi+3=11,6,5,15,13
X? =121,36,25,225,169

> X? =576

OB (K )l sy cilaaliall ad cpe dad S Cy pia 13 22
(K) & * Aol sl ol = daslil) alh) el

(K) * )l a8 i) ady) = Al adll ol i) ey —

If Xi=yi*k then S%=S,>*k* or Sy =k*S,

If Zi=y;+ X  then

DO O e pad Juala S 13) Ll

522: sz + S){Z
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Standardized Scores Qaw Ll a0l ]

a8 wlizs (sl oplisns wgiun puiilins pricsas oo Lwissie our @liell e loic
dimill IMs o alls iy 1iludiad> AV 939 dwld Bur o o3 @il olls 0S5 vl J=V
radMall (589 comzss il @panluall @zl sl

08 lowd adbll Glass bawgin il Slol,l 83le (a8 (84) &>, sle wlb Ja> * Jleo
(82) Lpd adball wlsys bangio sl (90) cbiuall 85lo (89 (10) 0,18 suwld 3l,=ilg (76)
Ssdel Ul lis abld cilS gucobsoll (o Sl xid (16) crwlid Bl

=l

elsall oo unlel Sluolyll s JUall L6 ol auas;




